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14. (a) libertarian society among illiterate PeoP

(b) liberation

(c) liberating

(d) liberty
development __ 15. (@) with a democratic political ~structure. Hitherto, in all
(b) within a
(c) for the

(d) without a

societies in which an economic takeoff or an early’ industrial and agricultural
16. (a) breakthrough had occurred, effective democracy, especially from the working

(b) breakout

(¢} breaking

(d) investment

people, had been extremely limited. On the other hand,

17. (@) with the beginning,
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(c) within
(d) for
India was committed to 18. (@) few  democratic and civil pp
€rtarian  politica] order
(b) some
(c) a

(d) an
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Ror example, French zoologist 1. G. Hilaire used the term ‘ethology’ —— 26. (a) for the
(b) to
(c) with e
(d) in
study of the relations of ;
27. (a) the organisms within the family and society in the
32.
(b) a
(c) live
(d) dead
aggregate and in ¥
term ‘hexicology’ _the community. British naturalist St. G 33.
ogy’ with regard to the stu . George Jackson Mi
study of the relations ivart proposed the
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34.
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COMPREI—IEN SION

After each P2s
the items bas¢
pinion O

sage, you will find Som
d on it. You are Tequirg,

you have few short passages:
f the author only,

passage and answer

In this section,
the passage and 0

he passage. First,
based on

Directions :
items based on t
to select your answers

read a
the contents of

passage—I

changes from primitive times to the present day hy
ver before as complicated as they seey
d production. Labour is said to be the
importance. It should be usefy

history of man—from the Ec_:ggggiic times to the modern factory

blems of today.

Mankind’s experience of various evolutionary
been extensive and varied. However, man’s problems Were ne

to be today. Man’s economic activity centres primarily aroun

primary factor of production; its role, therefore, has been given a lot of

to have an overall view of the economic
system—and study its relevance to the various labour pro

Initially, man passed through ‘the hunting and fishing stage’. During this period, his basic needs were

adequately met by Nature. Wild animals, birds and fruits satisfied his hunger, and his thirst was
q;l_%:g;quby the waters of springs and rivers. Caves gave him shelter and barks of trees were used as
clothing. During this stage of man’s progress, labour i i

: problems did not exist beca
any economic, political and social systems., Sy

Then came ‘the pastoral stage’, whi
ge’, which was marked b, i
nomadic and migrat i y a certain amount of economic activi
e pasturesr:nzry na;ure of man persisted, and, together with his goats and cattl hctwlty. The
i meadows. Some conflicts would sometimes take pl % heanovd @8
period, the institution of nominal private property ovmerglf'ce S ommang
1p was not known

This stage paves th
€ way for ‘th i ]
There was a small artisan cla:SagnCLSturaJ stage’, during which the class .
mostly self- ystem began to develop.

Zamindars as well employed;
5 _ ; and there
aves. Thus, arose the feudal system Dr?re also landed proprietors of
» & number of socj ‘ nng the fourth stage est
al and economic changes took slacc::f \:l’lliCh

sufficient €conomy of the villageé
50. Humanity’s evolut Vi |
olution from primitive Stage t .

€ 1o the

(@) static ang T Present has heep

(b
) huge ang diversified

f€) always violent

). sy Peacefy)
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unproduc:tivc, barren 44
sell it off, in the absence o
poor under the ceilin,
the beﬂeﬁCiaI‘ieg’ bUt

inferior,
;despread reports of allotment of 1
wide ,

d, many of whoi have been 2

s . lands allotted t

igsued to

pattas WEre iss o .

rresponding changes Were not made in o

ceiling limits. There are
d to landless houl ] :
to make it productive- In many I
ir pos:-;cssion, In som

wn in the Pattas W

wastelan 1stances,

resources
laws are
possessicm of land sho

records of right.

not in the

st the landless and the poor thy
massive mobilization of the rury)
an be achieved in thj

vily weighed again
lear that without
ral India, Very little €

n rural India is S0 hea
ficult. It is C

ng laws is dift :
democratic governance in ru

The balance of poweT i
implementing land ceili
poor and depending on

direction.
nues to depend on agriculture as its primary Ssource of

livelihood, 83 percent of farmers operate holdings of less than 2 hectares il size, and the average
holding size is only 1-23 hectares. This is often in fragments and unirrigated. There are alsol those who
are entirely landless, although agriculture is their main source of livelihood. They have inadequate

se and often depend on Jeasing in small plots, on insecure terms, for
y face insecurity of tenure and the growing

industrialization and powerful interest.

Although half of India’s population conti

financial resources to purcha
short periods, sometimes only for one season. Hence, man

threat of land alienation and pressure from urbanization,

55. Why does the land reform prove to be slow?
(a) Because of the disparity in power structure
(b) Because of the power of the government
{c) Because States have different laws

(d) Because of the scarcity of land in the country

56. Which of the following statements is/are correct?
1. Land ceiling laws have proved to be unsatisfactory

2. The democratic structure of the government cannot
0

TG ooy provide solution to the problem of

3:

he owners of land
[ ave abund&nl. natura resources
' hav 1 .

Identified land for distributi
or distribution has not been distributed due to
court cases against it.

Select
the correct answer using the code given bel
elow,

(a) 1 and 4

(¢) 3 and 4 (b) 1 only

(d) 2 and 4
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58. Which wc

(a) Ame
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59. According
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(c) Agr

60. “There ai
livelihoc
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Despite downs
Some reasons
increased fairm
employees feel

The use of em]
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questions and
purpose of the
Computerizati
short answers

Survey softwa
can be custc
computerized,
analysis, and
age, sex, job
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will be collect
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i k
be some risk that employees yikesieeriie Htvey I

her methods too.
i i and s .
ey are perceived by their peers ubord“'late

§

d which allow the manager to comp, *
» us opiniOI'lS of Others. T]‘,a
5-:8

0
by. While there may ?e

3 SSErs- .
to supervisors or pa ble risks with ot

than once, there are compara

nterested in knowing how th

iZe
t can be customiz
% perceptions to the anonymo

effective manager.

Managers may be i
Packages are available -
self-assessment tool used to compare S€

comparison may assist in the development ofia ‘more
61. Which one of the following is not the reason for improved job satisfaction of employeegs
(a) Improved work flow
(b) Better cooperation between departments
(¢/ Supervisors’ fairness
(d) Increased remuneration

62. Companies feel that it is necessary to
(a) maint.ain anonymity of the employees and to have effective design and sequence of
questions and effective communication
(b) maintain the fairness of the managers to be part of the survey
{¢) conduct surveys from their employees
{d) maintain anonymity of the emplo

. yees and not to have effective desi
guestions and effective communication = S sedve

63. One major benefit of using survey software Packages is

(@) reports can be generated easily

(b) Privacy of g person is exposed to the supervisor
y s

(e) Convenient () Br €akdowng
(@) Perceptjons

Dire
hawve
four
sent
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n behaviour.
to huméa
gard

ole with T
purturing democracy,

yie regulatory r
} B r
o build inst:tutlcms fo
hip with th

115. S1: Institutions define and pla

sl ¢ ion & .
titisfora natio e members constity ting

86 : It shows how importan
set a dynamic relations

P : Once established, institutions
¢ each other.

them and they mutually affec
es, power and privilege:

s can be transfo
ms an

rmed by the politics they
d behaviours.

Q : They shape preferenc

institutions themselve

R : At the same time, |
n can affect social nor

produce and such transformatio

S : They also provide a sense of order and predictability.

The correct sequence should be

(a) RPQS (b) QRSP
(c) PSRQ e
116. 81 :

Idio
ms are a colourful and fascinating aspect of language

S6 :

Q : The
Yy are Comm0nl .
‘mttﬁnb Y l.]SedI

The
correct sequence should pe

@ RQps
(C,l SRQP
() Rs
PQ
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v dear, and see how

@ m?}
her o ake, and this

akes, said u}_ Take her ac

made some € i
g has been very

119, S1: One day her mother, havin
for I hear she

your grandmother is doing,
little pot of butter.”

S6 : “Does she live far off?” said the wolf.

He asked her where she was going.

know that it was dangero
d car

alk to a wolf, said

us to stay and t :
d a little pot of

Q : The poor child, who did not o
’ a cake a
to him, “I am going to see my grandmother an ry her

butter from my mother.”
h a wolf, who had a very great mind to

R : As she was going through the wood, she met wit ?
g nearby in the forest.

eat her up, but he dared not, because of some Woo
other, who lived in another village.

deutters workin
S : She set out immediately to go to her grandm

The correct sequence should be

L (h) SRPQ
(c) PRSQ o e
120, 51

I had spe an 1 i j
d spent many nights in the jungle looking for game, b this w

S6 : It was in this position my men an hour later f
0

i u
- o e aovseen diyiling nd me fast asleep; of the tiger I had

0
N my drawn-up knees.

Bigszailiil faci
ackedlthe courage to return t acing, | rested
my self-imposed task. ang wi o the village S my head
out the long night, Wit tecth chattering a:m tLwag o fright
> 98 much ened
Th fro to
¢ correct sequence shoulq be M fear 54 e :a;;q; out
o 3 sat
(@) QPSR
(b) SR
PQ
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